Rate of Change Practice 11

Name: DCate: P@Q

Below is the graph and table for 2 runners running the 400 meter hurdies race.
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1. Which runner has a faster average speed for the first ¢ seconds?

2. Which runner has a faster average speed from 9 to 20 seconds?

3. Which runner has o faster average speed from 20 to 31 seconds?

4, Which runner has a faster average speed from 9 to 31 seconds?

5. Which runner wins the race? How do you know?

Find the average rate of change for each of the following graphs over the given interval.
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Suppose 25 tlour beetles are left undisturbed in o warehouse bin. The beetle population doubles in size
every week. The equation P(x)=252" can be used to determine the number of beetles after x weeks.
Complete the table.

Week | Population
12. Calculate the average growth rate between weeks 1 and 3. 0 L
1
' 2
13. Calculate the average growtih rate for the first five weeks [0, 5]. 3
4
14. Which average growth rate is higher? Why do you think it is higher?

The graph below shows the United States population from 1900 to 2010, as recorded by the U.S. Census
Bureau.
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15. What was the rate of change in the population from 1900 to 2000% Is fhis greater or less than
the rate of change in the population from 2000 fo 2010?

16. Which 10-year fime periods have the highest and the lowest rates of change? How did you
find these?

Find the rate of change of Pete's height from 3 to 5 years,
17. Tmef{years) | 1 [ 2 13 |1 4156

Height[in.) |27 | 35|37 | 42 | 45 | 49

For f(x)=x"—2,find the rate of change on the interval [-2, 4].
18.




